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G40l O Kets 2orS A0foFZ.

You should have accepted the offer.

Aol OHL Ao A Hatd == UAATOLR.
You could have called your manager.

M2t ArdEE 7IttRE AYLCH

—

I would have waited for my boss.

M7t ol s EXS AYLICE

I would have sent an email.

S0l O ZME 7HHE = AUFOLK.

You could have taken the documents.

L0 AES0AH ERI0OFZ.
You should have informed people.

40| AHAAS AHH 2.

That would have been perfect.

de O SERAS 7Hoa.

He would have been more polite.
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Lt= O|AS ERO{OF 0.

de dHE FOIMAS 7ok

L= 228 =& AAYO.

He dAHE BUAS 7Ok

dd= 2218 RS 7Ok
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L= O|AdS ER0{0F ™.

I should have finished this.

ds HE B8 & A0

He could have helped you.

dde o gag == AU

She could have practiced more.

de A9 E HHAS 7Ok

He would have met her.

de dHE FOIMAS 7ok

He would have liked her.

ds2 O|AS HAOOF 0.

They should have eaten this.

L= 228 =& AAYO.

I could have cooked.

d52 20{0F 2o

They should have come.

He dAHE BUAS 7Ok

You would have seen her.

dd= 2218 RS 7Ok

She would have cooked.



